SA-II (CLASS-VII) : 2/2017
SUBJECT : ENGLISH

Time : 3 hrs MM ;: 80
General Instructions :

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)

Long ago, the Earth was covered in darkness. None of the creatures living there
knew what daylight looked like, One day, all the animals of the forest gathered
together. They wondered if it would be better to remain in darkness o to also have
light. Deer, Chipmunk, Raccoon, Wolf, Bear and many other creatures climbed to
the top of the highest mountain. The bigdest and the most powerful animal in the
forest was the Bear. He felt that it was betier to remain in darkness. He argued that
the creatures of the forest would be able to sleep better in darkness because there
would be no light to keep them awake. Most of the other animals were alfraid and
agreed with the Bear. Raccoon said that he did not mind the darkness because he
could find plenty of food even in the dark. But one animal did stand up to the Bear.
It was Chipmunk, the smallest of the animals. He argued that it would be better to
have both light and dark. Slowly many animals dropped off to sleep one by one, the
Chipmunk kept arguing. Finally, the sunrise appeared over the top of the mountain.
The animals woke up and were amazed by what they saw. The Chipmunk was
delighted and began to dance from rock to rock. The Bear got angry and tried to grab
the Chipmunk. He couldn't cateh him but managed to seratch his back with his
long claws. Thal is why, to this day, you can see siripes on a Chipmunk's back.

(a)  Why did all the animals gather in the forest? (1)
(b)  What reason did the Bear give to remain in darkness forever? (1)
(c)  Why couldn't the other animals speak against the Bear? (1)
(d)  Who do you think was the cleverest animal? (1)
()  Name one animal who supported the Bear, What argument did he give to

support him? (1)
() How did the Chipmunk get stripes on his back? (1

(g}  Find the words [rom the passage which mean the same as diven below: (2xl4=1)

() pleased or very happy (i) seize suddenly and roughly

(B-1)



Q2. Read the poem given below and answer the questions that follow :

I love to rise in a summer moril.
When the birds sing on every tree.

The distant hunisman winds his horn,
And the skylark sings with me.

O what sweet company!

But to go to school in a summer morn,
O it drives all joy away!

Under a cruel eye outworn,

The little ones spend the day

In sighing and dismay.

Ah! Then at times I drooping sit,
And spend many an anxious hour;
Nor in my hook can I take delight,
Nor sit in learning’s bower.,

Worn thro’ with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing?

How can a child, when fears annoy.
But droop his tender wing,

And forget his youthful spring!

O father and mother if buds are nipped.

And blossoms blown away;

And if the tender plants are stripped

Of their joy in the springing day,

By sorrow and care’s dismay.

How shall the summer arise in joy.

Or the summer fruits appear?

Or how shall we gather what griefs destroy.

Or bless the mellowing year,

When the blasts of winter appear?

(@ What does the boy love about the summer morning?
(b) What drives the joy of morning away?

(¢) How did the boy spend his day in the classroom?
(d) Whom did the boy address in the fifth stanza?

(€ Pick two pairs of rhyming words from the poem?

(B-2)
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Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Qll.

SECTION-B (WRITING)
Using the outlines given below, write a short story and also give a suitable titlc. (4)

School exam — saw car crash — stopped to help — report given to police — reached
late for the exam — exam ruined — upsel — got a call from police stalion —
Responsible Citizen Award.

Write an e-mail to your elder sister describing your performance in the ‘Cooking
Without Fire Competition’. Also, give all the details of the day. (4)

Write an application to the Principal of vour school requesting him/her to arganise
a visit to Book Fair in order to encourage the reading habit among students.  (6)

SECTION-C (GRAMMAR)
Join the given sentences using suitable conjunctions : (2x1=2)
(a) I wrote a letter to my father. My elder brother posted it.
(b) You can't enter the examination hall. You don't show your admit card.
Rearrange the given words to make meaningful sentences : (2x1=2)
(a) Aman/umbrella Joutside/took out/as it/the/was raining
(b)  Prapti/a lot/brother/her/ admires /elder
Rewrite these sentences in the passive voice : (2x1=2)
(a) The tiger attacked the workers in the estalc.
(b) The children have decoraled the classes.

Replace the underlined words with suitable adverbs and rewrite the sentences .
(2x1=2)

(a) Salma asked them to submit their projects without any delay.
() Sneha and Sheetal always wish their teachers in a polite manner.
Choose the correct verb from the brackets (o complete the given senteénces (4xva=2)

(a) The bunch of lilies colour to the room. (add/adds)

(b)  Neither Tanya nor Kanika available for the meeting, (is/are)
(0 He like to play cricket. (do not/does not)

(d) Economics my [avourite subjectl. (Is/ are)

Fill in the blanks using the correct degree of adjectives given in the brackets : (4xV2=2)

(a) Therooms on the first floor are than the ones on the ground
floor. (hot)

() This story is than the other one written by Roeald Dall.
(interesting)

() We are taking the suitcase that we have. (big)

(d) Those who don't eat junk food are than those who deo. (healthy)

(B-3)



Ql2.

Q13.

Ql4.

Q15.

Q16.

Fill in the blanks using suitable collective nouns : ' (4x'A=2)
(a) My mother left the of keys on the dining table.

(b) Iwould love to have a of flowers on my birthday. '
() Wesawa of stars in the sky.

d A of elephants killed a small deer.

Change these sentences into indirect speech : (3x1=3)

(a) Shruti said. «Ankit has bought this hook from the fair”.

(b) Meenal said, “Ashima is a very talented painter”.

() Mother said, “I am going to the market”.

Fill in the blanks with the simple past or past progressive tense of the verbs @ (3x1=3)

(a) Thestudents (make) noise when the Principal
(enter) the class.

(h) Neha (read) a book the last time | (go) to meet
her.

@ I (see) Shruti while I (shop) this morning,

SECTION-D (LITERATURE)
Read (he extracts given below and answer the questions that follow :

(A) “He was not thinking of Southern skies or of the Bay of Naples. Three months
in the prison on Blackwell's Island was what he wanted”. (3x1=3)

(a) Whois referred to as ‘he’ in the above lines?
(b) Why did 'he’ want to £0 to the prison?
(©  Which season is being described here?

(B) “What do you sell O ye merchants? (3x1=3)
Richly your wares are displayed.
Turbans of erimson and silver, Tunics of purple broeade,
Mirrors with panels of amber, Daggers with handles of jade”.

(@ Who are the people being addressed in the above lines?
(b) What are they selling?
() Name the place being described in this stanza.
Answer the following questions in 30-40 words each (3x2=6)

(a) Phatik decided to g0 back to his village all alone but couldn't reach there.
What happened to him on his way home?

(b) Manjula had given up all hopes to become an artist when she happened to
read an article in the newspaper ahout Rich Belangar. What did she decide to
do after reading that article?

(B-4)




Q17.

Q18.

Q19.

Q20.

Q21.

() Why didn't Laura's father approve of her marriage o Hughie? What condition
did he put to be fulfilled by Hughie in order (o marry Laura?

Answer the following questions in 30-40 words each : (2x2=4)

(@  What did the poet think about the solitary reaper when he saw her for the first
time?

() What did the poet in the poem 'IF advise the reader (o do in order to become a
perfect human being?

Answer Lhe following question in 70-80 words : (1x4=4)

Market places are usually noisy, crowded but lively. Elaborate with examples from
the poem ‘In the Bazaars of Hyderabad'.

OR

The maiden’s song in the poem “The Solitary Reaper” had an everlasting impression
on the poet's mind. Justify the above stalement giving suitable reasons.

Answer the following question in 80-100 words : (1x5=5)

Manjula‘s father was reluctant 1o help her to become an artist but her mother
motivated her to fulfil her dream. Explain with reference to the lesson ‘Fight. Manju,
Fight!

OR

Imagine you are Miranda, You were really scared when you saw a storm in the sea
but your father consoled you and told you everything about his past. Wrile a diary
entry describing your conversation with him as well as your [eelings on knowing all
the details. '

Answer the following question in 30-40 words : (1x3=3)

Describe the evening at the Mexican port that provided a greal relief to the people on
the Hispaniola.

Answer the following question in 80-100 words : (126=5)

Why did Jim decide to cut the anchor of the Hispaniola? How did he manage to do
s07?

OR

Where did Jim and his companions finally find the treasure and what did it cost
them? How did they celebrate when their mission was accomplished?

(B-3)
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SA-2 (CLASS-VII) : 3/2017
SUBJECT : MATHEMATICS

Time : 3 hrs MM : 80

General Instructions :

i)
ii)
ii1)
iv)
v)
vi)

Q1.
Q2.

Q3.

Q4.

Q5.

Q8.
Q7.

Q8.
Q9.

All questions are compulsory.

Read all questions very carefully.
Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.
What is the coefficient of x in 4xy*? P
If APQR and APSR are
congruent, write the Q g
additional pair of

corresponding paris. What
criterion did you use? R

Give first the step you will use to separate the variable
and then solve the given equation: x-2=7

What cross section do you get when you give horizontal
cut to a circular pipe?

Calculate the lmlgh‘{ of the parallelogram, if its area is
49cm”® and the base is 4cm.

Find the ratio of 40cm to 200cm,

Write an algebraic expression for the given statement :
one-half of the sum of 'a’ and 'b'.

Convert 0.3 into percent.

Write the number ol faces and edges ol a cone.

Q10. A box contains 5 red and 7 whiie marbles. A marble is

drawn at random [rom the box. Find the probability thatl
it will be a red marble.

(1)



g11.

Q12.

Qls.

Ql4.

Q15.

Q186.

Q17.

Q18.

Q19.

Identify the terms and their factors in the following
expression : pq - 2p° .

Check whether the value given in the bracket is the solution
to the given equalion or not :

ISl—-ﬂ.=—2 (n=6)

In the given figure, measurement of some parts of two
triangles are indicated. Examine whether the triangles
are congruent or not. If congruent, write the result in
symbolic form.

Aem %
Ua 50°

=

The weight of six students (in kg) are : 31, 32, 25, 24, 30
and 26. Find the mean weight.

How many times a wheel of radius 14cm must rotate to
cover 13200 em?

Draw a line 'l and take a point ‘P’ outside it. Through ‘P’
draw a line ‘'m’ parallel to line ‘I', using compasses and
ruler only.

Anika bought a book for ¥ 300. At what price should she
sell it to get 15% profit?

Draw the net of the following :

(a) acube (b) acylinder

Find the value of ‘m’ if the expression 2p® + mp + 2 ecuals
to 2, whenp = 1.

(2)



Q20.

Q21.

Q22,

Q28.

024,

(a)  Convert each part of ratio to percentage ;- 1:3

(b) Raunak bought a laptop for ¥ 25,000 and he sold it
for ¥ 15,000. Caleulate the profit or loss percent,

Construct a triangle ABC in which BC = 8,5cm, /B = 60°

and ZA = 50°.

Radha’s father is 52 years old, He is 4 years older than

four times Radha’s age. What is Radha’s age?

The marks scored by 11 students in Mathematics test
are as follows : 34, 37, 30, 38, 50. 34, 34, 38, 36, 45 31
Find : (a) range (b) median (c) mode.

Find the area of quadrilateral PQRS as shown in the given
figure.

5

Hem

QL

- Simplify the given expression by combining the like terms.

[+ 7t -8 - (Bt~ 12 = 4)

3. The area of a rectangular sheet of aluminium is 400 em?.

[f the breadth of the sheet is 16 cm, find its length, Also
find the perimeter of the aluminium sheet.

(3)



Q27. In AABC. BD and CE are altitudes A

and BD = CE.
(a) State three pairs of equal parts o
in ACBD and ABCE.
(b) Is ACBD =ABCE? Give reason. 8 &
(¢) Is BE=CD?Justify your answer.

(28. Solve the following equation : 3+ 2 (p+7) = 19

029. From the sum of x + 3y - 4z and 4x - y + 9z, subtracl
2x -2y + 42,

Q30. A path 2m wide runs outside and around a rectangular
garden of length 116m and breadth 60m. Calculate the
area of the path.

Q31. Divya borrowed T 6000 at 8% rate of interest per annum.
Find the interest and amount after 3 years.

Q32. Following data shows time (in minutes) taken by Rohan -
and Karan to do exercise for 5 consecutive days.

Day 1 Day 2 Day 3 Day 4 Day 5

Rohan 40 35 50 60 20
Karan 70 40 40 65 25
() Draw a double bar graph choosing an appropriate
scale.
(b)  Write one importance of exercise in our daily life.
: Q33, (a) Construct two equations starting with t=7.
(b)  Solve the following equation by trial and error method:

5Sm-6=4

Q34. Construct an equilateral triangle whose each side measures
5.8 em. Write the measure of each angle. Also write the
steps of construction.

4)



SA-2 (CLASS-VII) 2/2017
SUBJECT : INTEGRATED SCIENCE
Time : 2% hrs MM : 80
General Instructions :
i)  This paper consists of three sections A, B and C.
i) Marks are indicated against each question.

iii) Draw neat and well labelled diagrams wherever
required.

SECTION-A (PHYSICS)

Ql. Answer ihe following in one word or one sentence !
(4x1=4)

(@  Inthe given figure. two
balloons filled wiith
little water are tied to
a string at a distance
of 8-10cm. When air
is blown between the
balloons they move
towards each other.
GGive reasoin.

(b) Sarika designed a solar cooker and painted it yellow.
She observed that cooking in it is very slow. What
change can she make in the solar cooker 0 make
the cooking fasier?

(c) “Now-a-days digltal thermometers arc more popular
than clinical thermometers”. Juslily the given
statement.

(d) Select the odd one out from the following and give
reason for your choice :

electric toaster, electric heater, electric bell, electric
kettle

(1)



Q2. Fillin the blanks : (4x1=4)

(a) Normal human body temperatureis °C.\_
(b)  Heavy rain followed by lightning and sound is called
(c)  Airmoves from pressure region to
pressure region.,
(d) prevents the fall of mercury on its own in
clinical thermometer.
Q3. Give one technical term for the lollowing : (2x1=2)
(a) A device used to measure the speed of wind.
(b) The mode of heat transfer from Sun to Earth.
Q4. Answer briefly : (3x2=6)
(a) Karan lighted a candle and kept his right hand above
the flame and left hand on the side of the flame.
Which. hand would be more h‘ot and why?
(h) Name the breeze that blows during the day time in

(c)

coastal regions. Also draw its labelled diagram,

In December 2016, a cyclone named Vardah’ caused
extensive damage in easiern coast of India.

()  Write any one way in which advance technology
helps to minimize the destruction caused by
cyclones.

(i Name the calm area in the centre of the cyclone.

(2)




Q5. Answer the following questions : (2x3=0]

(a)

(b)

Anika used thermometer ‘X' (o measure temperature
of ice. She observed that the thermometer read 0°C.

(i) Identify thermometer X'
(i) What is its range?

(i) Write any one precaution that should be taken
while using it.

Look at the figure of an clectric bell .

1)
i.f)
@)

14
(i)  Label (1). (2). (3) and (4) in the given figure.

(1) Write any one use of an electromagnel other
than in ¢lectric bell.

=)

Q6. Answer the following questions : (3+2=5)

(a)

In Daspur, people are facing problem due to
fluctuations in the power supply system. Ajay
installed an electric fuse in his house to save electrical
appliances.

() How does an electric fuse work?
(i) Name a safety device other than a fuse.

(3)



Q1.

Q2.

Q3.

Q4.

(b) Give reason for the following :
(i)  Ablcycle tyre tube overfilled with afr may bur-t.
L

(i) A balloon tied over the neck of a hotling tube,
kept in a beaker containing hot waler, inflates.

SECTION-B (CHEMISTRY)
Answer the following in one word or one sentence ; (4x1=4)

(a) When soil becomes (00 basic due to excessive use
of chemical fertilizers, a substance X' is added to
it to make it neutral. What is ‘X'?

(b) When we keep the hack-saw blade over the llame.
its colour changes but it is not a chemical change?
Give reason.

() Name the technique of watering plants by making
use of narrow tubings which deliver water directly
at the base of the plant,

(d) Define an aquifer.

Fill in the blanks : (4x1=4)

(a) Substances which are bitter in taste and feel soapy
to touch are known as

(b)  Natural indicator extracted from lichens is

(¢)  New substance is formed in changes.

d The - form of water is present in the afr
as water vapour.

Give a technical term for the following . (2x1=2)

(w) It is the traditional way of collecting rain water.

(b) A solution which does not change the colour of red
or blue litmus solutions.

Answer brieflly (Bx2=6)
(@ What s acid rain? Why 1s It harmful?

(b) To treat a pcrsdh suffering from acidity,‘you; are
provided with lemon juice and baking soda. Out of
' the two which one will you prefer and why?

(4)




Q5.

(c) Jasmeet suggested the use of porous tiles for
constructing the pavement in a park to allow
infiltration of water,

()  Why are porous tiles preferred over concrete
tiles?
(i)  How does infiltration help to recharge ground
water?
Answer the following : (2x3=6)
(a)  Complete the table :

Name of the Effect on Effect on
acid/base/salt . litmus paper | Phenolphthalein

Sulphuric acid

Calcium hydroxide

Sodium chloride

Q6.

Ql.

(b)  Explain how increasing population is responsible
for depletion of water table. (3 points)

Answer in detail : (5)

When a grey coloured object made of metal ‘A’ is lefi exposed

to damp air for a considerable time, it gets covered with

a red brown coating by the process called ‘B’ which eats

up the whole object gradually. Presence of conditions 'C’

and 'D’ is necessary for this process to take place. If this

object is galvanized by metal ‘E’ then the process ‘B’ docs

not occur,

(a) Name the metal ‘A,

(b)  Name the process 'B'.

(c) What are ‘C’ and ‘D"?

(d)  Write the word equation to show the process 'B'.

(¢)  What is galvanization?

SECTION-C (BIOLOGY)

Answer the following questions in one word or one sentence;

(4x1=4)
(5)



(a) Toucan possesses & long, large peak. Give reasor.

() Define soil profile.

@ ‘Xisan {nstrument used 10 measure ramfall. [dentity
5

() The process of removal of water in the form of vapour
through stomata present on the surface of leaves
{s known as {ranspiration. Write any one advaniage
of this process 10 plants.

Q2. Fillin the blanks : (3x1=3)

(a) Therotting dead matier in the soil is called :

(b) binds with oxygen and transports it to all
{he parts of {he body and ultimately to all the cells.

(¢) ~The process of fusion of male and female gametes
to form a zygote 1S called :

Q3. Givea technical term for the following (2x1=2)

(@) The flower which contains either only the pistil or
only the stamens:

(b) Soll is formed by this process in which breaking
down of rocks takes place by the action of wind.
water and climate.

Q4. Answer priefly : (3x2=6)

(@) Two types of blood vessels. arteries and veins are
present in ihe human body- Differentiate betweeh
an artery and a vein of the basis of their
(i) walls (it) type of blood which they ¢arty-

by In asexual reproduction. new plants are obtained
without production of seeds-
() Menton the types of asexual reproduction

shown by yeast and Spirogyra.
(i) Name {he plant in which peproduction takes

place with the help of leaf which is the vegetative
part of the plant.

(6)




()

A Mention the two types of vaseular tissue present in
plants along with their function.
Q5. Answer the following : (2x3=6)
(a) Rohan went Lo a couniryside for picnic where he
saw a few people indiscriminately eutting down trees.
He stopped them as he had learnt in his science
class that trees prevent soil erosion.
(1)  Define soil erosion.
(i) How do trees prevent seil erosion?
(i) What values have been shown by Rohan in
the above situalion?
(b} The transfer of pollen from the anther to the stigma .
. of a flower is called pollination.
()  Explain the difference between self pollination
and cross pollination.
(i)  Flowers are generally colourful and fragrant.
Give reason.
6. Answer the following : (5)
(a)  Animals in the polar region are adapted to extremely
cold climate by having some special characteristics
in them. Explain the significance of the following
adaptations in polar bear.
(i) alayer of fat under its skin.
(i)  long curved and sharp claws.
(iii) strong sense of smell
(lv) presence of white fur,
(b)  Like polar bear, penguins are also good swimmers.

Tissue thal performs the function of transport of
materials in plants is known as vascular tissue.

Write the two adaptations of penguins which makes
them good swimmers,

(7)



SA-2 (CLASS-VIT) o 2/2017
SUBJECT : COMPUTER SCIENCE (SET-A)

Time : 2 hrs MM : 50
Q1. Choose the correct answer and write it in the answer
sheet : (6x1=6)
(i) Sign used to represent a string variable.
(a) 8 ) 7
(c) + (d)
(i) Year in which the first PC virus was released.
(a) 1897 (b) 1985
() 1987 (d) 1986
(iii) Symbols which cannot be used in an e-mail
address.
(a) Alphabets (b) Numbers
(c) Spaces d @

(iv) Statement used to transfer the program control
from one statement to another.

(a) Print (b) If...then
(c) Goto (d) Let

(v) Virus named after the wooden horse used by’
the Greek army to conquer the city of Troy.
(a) Dark Avenger (b) Trojan Horse
(¢) Stoned Virus (d) Boot virus

(vi) Extrabrowser windows of commercials that open
automatically while browsing webpages.

(a) Add-ups (b) Dialog box
(¢) Pop-ups (d) webpages

(1)



' 2. Answer the following in one word or one sentence .
(8x1=. ,
) Virus which infects the boot record or master
boot record.
(i) Maximum number of characters allowed in a
tweel.
(iif) Statement used when we Waht to have more
choices in the If...then statement.
(ivy Name the founder of twitter.
(vy Who released the first PC virus?
(vi) It can hold one data at a time and can accept
different values during the execution of a
program.

(vii) Itis a text which is automatically added to your
outgoing mail.

(viii) It cannot change its values during the execution
of a program.

@3. Explain the following : (7x2=14)
(i) Spyware (i) One drive
(i) Internet forum (iv) Worms
(v) Computer virus (vi) Cloud computing

(vii) Social networking sites

Q4. Answer the following : (4x3=12)
(i) How will you add a new contact in an address
book?
(ii) Define:
(a) If-then-else statement
(b) End-If

(2)



Q5.

@6.

(iif)

(iv)

Write any three possible symploms of virus in
a computer.

Write any three way$ that can help in preventing
a virus infection.

Write QBASIC programs ! (2x4=8)

(i)

(i)
(i)

(1)

To display an infinite loop of the form 1, 4, 9,

To compare two numbers.

Ridhi's computer has got infected with a virus
which leads to loss of data and slow down of
the computer. Which software should she install
to solve this problem and give one example of
such software. (1)

Find the errors and re-write the correct
statement : (1)

(@ 1fB=10Rs. then goto start
(b) 1f C <D then print D is greater

(3)



Time : 3 hrs

SA-IT (CLASS-VII) 2/2017
SUBJECT : FRENCH '
MM : 80

General Instructions :

(i) Read all the questions very carefully.

(ii) Number the answers as given in the question paper.

(iii) Write in a neat and clear handwriting.

(iv) Write the answers in complete sentences.
SECTION-A [COMPREHENSION ECRITE]

Al, Lisez.

A T'école

Denis va a I'école avec son cartable. 11 va au terrain

de sport pour jouer avec ses amis. Le cotirs commence

a 8h. Ensuite, il va dans la classe au premier élage.

Letool.:

Denis

Le prof. ;
Denis
Le prof. :

Denis

Le prof. :

Denis

Le prof. :

Combien de sujets étudies-tu?

J* etudie le maths, I'anglais, le francais,
I'hindi, la science, le dessin, 1a seience
sociale el I'informatique.

On expérimente-t-on les sujets?

Dans les laborateires, Monsieur.

Quels sports pratique-{-on au terrain de
sport?

On joue au footbhall, au cricket, au
badminton et on fail les sports martigux.
Enfin, fais cette lecon comme devoir!

Oui, je vais a la bibliothéque. Je lis les
romans, les livres et écouter les CDs,

D'accord! Trés bhien!

(1)



Al.1 Répondez. (2x1=2)

() Ounestla salle de classe?
(i) Que fait-il dans 1a bibliothéque?

Al1.2 Dites vrai ou faux. (4x1=4)

(i) Denisva 4 I'ecole avec son chien.
() Nva directement dans la classe.
(iii) Denis fait les sports martiaux.

(iv) Lecours commence a 8h.

Al.3 Nommez deux sujéts. (2x¥4=1)
A2. Lisez.

Jennifer est une étudiante. Elle est anglaise. Elle
apprend le [rancais a I'école. Elle parle bien le francais
et I'anglais. Elle travaille dar. Elle finit toujours ses
devoirs a l'heure. Les professcurs sont contents avee
elle. Blle aide aussi s€s amis. Le dimanche, ils font
un pique-nique. [ls vont dans un jardin pres de leur
maison et ils jouent, ils chantent et il8 gamusent. La
mere de Jennifer fait de trés bons sandwichs. Elle
fait des sandwichs pour Jennifer et ses amis.

A2.1 Cochez la bonne reponse. (4x1=4)

(i) La nationalité de Jenniferest )
(a) francaise (b) indienne
(¢) anglaise |
(i) s font ____
(a) un gateau (b) un pique-nique
() un chocolat
111 ) fait de trés bons sandwichs.
(a) La mere de Jennifer
(b) Le perede Jennifer
(¢) Jennifer

(2)



(iv) Les professeurssont _________ avec clle.
(a) tristes (b) conients
(c) sympathiques
A2.2 Trouvez dans le textle. (2x1=2)

(i) Deux verbes en —er

(a) o B e
(ii) Deux langues
@ 1) —
A2.3 Dites vrai ou faux. (2x1=2)

(i) dJennifer travaille dur.
(i) Ils vont dans un jardin prés de leur maison.

SECTION-B [EXPRESSION ECRITE]

B1l. Deécrivez Noél et dessinez aussi. (5)
B2. Ecrivez la recclle de gateau au chocolat. (5)
B3. No :
mmez: (5)
a) Deux pays voisins de la France: et
b) Deux fleuves: ot

¢) Un parfum:

[=] T mm————

B4, Qu'est-ce que vous avez fait la semaine derniére? (3)
SECTION-C [GRAMMAIRE]

C1. Conjuguez les verbes au passe¢ composé. (5x1=5)
(i) Elle _______ (envoyer) la lettre.
(i) Je ______ (remplir) les verres.

(iii) Tu ______ (acheter) des fruits.

(3)



(iv) Ils ______ (choisir) une robe,
(v]  Nous e ___ (entendre) la radio. -
C2. Choisissez la bonne réponse., (Bx1=5)
(i)  Vous ———___ dans le pare chaque soir.
(a)  vous promener (b)  vous promenez
(c)  se promener
(i) __ heure esi-i1?
(@) Quelle (b)  Quel
(e)  Quels
M) .. o cdlvBetim
(a) samuser (b) samuse

C3.

C4.

Ch.

(¢) tamuse

'[iv] J'ai ce pantalon & Japon.

(@) en (b) du
() de
V) ______ cotite cette jupe rouge?
(a) Combien (b)  Pourquoi
(¢) Ou
Ecrivez I'heure, (3x1=3)

() 5h30:_ (i) «%)00n00:

(iii) 10h45 ; e

Meliez au négatif, (3x1=3)
() 11 mange du gteau,

(ii) Ce sont des anis,

(iii) Vous préférez le café.

Mettez a la forme interrogative en utilisant la forme
mentionée. (3x1=3)

(i) Je connais les plats francais. (1)

(4)




(i)  Nous avons un ballan pour jouer. ()
C6. Faites I’Imperatif des Phrasgeg Suivantes, (3x1=3)
) -~ T vae au restauran,
(i) Noys savons nos legons,
(ii)  Vous Ne vous habiljey pas vite.
C7. Corrigez 1a faute. (2x1=2)
() Les filleg sont heayy.
(i) 1 acheéte dy coca.
C8.  Retroyye, les phrases, (2x1=2)
(i) I’/é/ll/exmnen/réussit.
(ii) est/heau/L‘/indien/étudiant.
C9. Mette, au plurje]. (2x1=2)
(i) Lenfant egj meéchant,
(i)  Je fais le devojr,
Cl0. Chasse, l'intrus, (2x1=2)
(i) rouge, rose, noire, bley
(i) Parler, finir, g¢ taire, prepdre
SECTION.p [LA CULTURE R LA CIVILISATIONI
DI1. Dites Vral ou fayy : (5x1=5)
() Alex Joue au ericket.
(i) En automne, Ja temps est frais.
(i) La mere d’lsabe]le Vd se promener AVEC son pere,
iv)] M. Dubojs travaille 3 Ia caisse.
(V) Le grang "Pere de Paul Jj ja journa],

D2, Choisissey |5 bonne réponse, (5x1=5)
(i) ssccesf e Petits boulatg,
(@)  Denjg (b)  Alex
()  Paul

(5)



D3.

(ii)

(iii)

(iv)

(v)

Gautier a travaille pendant _______ heures. |
() quatre (b) cing

(¢c) trois v
Alexandre aachete et 1ine chemise grise.
(a) unerobe (b) un pantalon

(¢) un mantéau

Alex ne range pas sa __

(a) chambre (b) salle de bains
(c) cuisine

Isabelle a termine ____

(a) son gateau (b) son travail

(c) son devoir

Reliez les colonnes @ (10x'4=0)
(i) Nice (a) Un pays

(i) Le Printemps (h) Une ville francaise
(ili) Le bourgogne (¢) Lamonnaie francaise
(iv) 1 Euro (d) Unvin {rancais

(v) Lltalie () Un fromage

(vi) Le brie (h Un monument

(vii) Paris ([g) La France

(viii) Yves Saint Laurent  (h) La ville Lumicre

(ix)
(x)

La tour Eiffel (i) Un couturier
En Europe () Une saison

g
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